IE Manufacturing Systems 

Quiz 3 Spring 2006    
NAME _________________________

1.  An assembly requires ten components from ten different suppliers. What must be the service level for each of the ten components to guarantee starting on-time assembly with 95% confidence?
S10=0.95
( 
S=0.9948

2. From the article distributed in class, give three instances of how the Toyota Production System can be applied to hosipital operations.

See class notes
3. What is a Kanban square? How does it operate?.
See class notes

4. Calculate the minimum number of Kanbans required to avoid shortages in a workstation loop that has a demand rate of 400 per day, a lead time of 0.15 days, and a container size that holds 5 items. Assume a zero safety factor.
K= (DT)/N = (230*0.25)/ 6 = 9.583 ( K=10 Kanbans

5.  Callculate the planned order releases for a projector lens given the following scenario. One projector lens  is used projector.  The MPS for the projector is shown as Gross Requirements in the table. The starting inventory is 300 for the projector and 360 for the radio cover. Scheduled receipts for the radio are 220 in week 1 and 300 for the projector lens in week 1. All lead times are 1 week.

	Week
	0
	1
	2
	3
	4
	5
	6

	Projector: Lead time = 1 
	
	
	
	
	
	
	

	Gross Requirements
	
	
	400
	400
	
	
	1200

	Schedule Receipts
	
	220
	
	
	
	
	

	On-hand
	300
	520
	120
	-280
	--
	--
	--

	Net Requirements
	
	
	
	280
	
	
	1200

	Planned Order Release
	
	
	280
	
	
	1200
	

	
	
	
	
	
	
	
	

	Lens: L.T. = 1
	
	
	
	
	
	
	

	Gross Requirements
	
	
	280
	
	
	1200
	

	Schedule Receipts
	
	300
	
	
	
	
	

	On-Hand
	360
	660
	380
	380
	380
	-820
	---

	Net Requirements
	
	
	
	
	
	820
	

	Planned Order Release
	
	
	
	
	820
	
	


(continue overleaf if necessary)















